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In geodetical observations, the correction for refraction is
(1) subtractive to both the angle of elevation and the angle of depression
(2) additive to both the angle of elevation and the angle of depression
(3) subtractive to the angle of _elevatioq and additive to the angle of depression
(4) additive to the angle of elevation and subtractive to the angle of depression
8. A road section of length 2 km scales 9 cm on a vertical photograph. The focal length
of the camera is 180 mm. If the terrain is fairly level, then the flying height will be
(1) 40 m ¥y (2) 4000 m
(3) 40 km (4) 400 km
9. The process of determining the location of the station (on the map) occupied by the
plane table is ;
(1) Intersection (2) Two-point problem
(3) Resection ' (4) Traversing
10. The area of irregular plotted figure can be easily determined by using instrument
named as ‘ , ;
(1) Pentagraph ~ (2) Planimeter
(3) Subtense bar (4) Vernier
11. In case of a truly vertical photographic survey, which of the following points
coincide ? ' :
I.  Principal point
II. Isocentre
III. Plumb point
(1) IandII only (2) 1 and II only
(3) II and III only ' L (4) 1, II and III
12. Measurement of discharge of river usually forms a part of
(1) Topographic surveying (2) Hydrographic surveying
(3) Geodetic surveying : (4) Route surveying
13. A total station is an instrument consisting of the combination of

(1) prismatic compass, theodolite and dumpy level
(2) auto level, tacheometer and compass

(3) electronic theodolite and electronic distance meter
(4) digital planimeter with auto level
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19. A property whose owner. is in the absolute possession of the property, and the owner
can utilise the same in any manner he likes subject to the rules and regulations of
Govt. and local authorities is known as : ;
(1) Leasehold property (2) Saleable property
(3) Freehold prdperty (4) Absolute property
20. Which of the following documents will not be required for drafting the tender
notice ? : :
(1) Nature of work and its location
(2) Estimated cost of the work
(3) Mode of submitting tender
(4) Schedule ‘A’ of the proposed work
21. 'Ih case of beams, the ratio of breadth to depth is usually taken as
(1) 05 t0 07 , @ 09to10
(3) 1-2to 14 ' (4) 1-8to 20
22 Assertion (A) : = Rate analysis is carried out to work out the actual cost of the
structure or building.
Reason (R) : Rate analysis is carried out to revise the schedule of rates.
State whether :
(1) Both A and R are true ; (2) A is true and R is false
(3) A is false and R is true (4) Both A and R are false
23. Which value of asset will fetch more money from market ?
(1) Distress value ~ (2) Monopoly value -
(3) Sentimental value (4) Potential value
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E FOR ROUGH WORK












V01 . 10 | A

40. The fluid flow in the model and the prototype will be dynamically similar if
(1) the forces in the two systems are same :
(2) the two systems are geometrically similar
(3) the two systems are kinemat,icaily. similar

(4) the forces at similar points in the two systems have same ratio throughout the
flow field

41. The main fimctio,n of the surge tank is to
(1) restrict the water hammer effects to small length of penstock
(2) provide a free water surface near turbines
(3) act as a reservoir -

(4) protect the penstock from bursting

42. In all reaction turbines, the following conditions should be satisfied for maximum
efficiency : :

(1) The velocity of whirl at entrance must be zero
(2) The velocity of flow at outlet must zero
3) Velocity of whirl at outlet must be zero

(4) Velocity of flow at entrance must be zero

43. In ceﬁtrifugal pump, the inlet angle will be designed to have
(1) relative velocity vector in radial dlllrection
(2) absolute velocity vector in radial direction
(8) velocity of flow to be zero

(4) peripheral velocity to be zero
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51. The process by which plants dissipate water from the surface of their leaves, stalks
and‘ trunks in known as
(1) evaporation : (2) evapo-transpiration
(3) delta . (4) conjunctive use
52. Mafch the following lists :
List I List I
(Plot of) , (Name)
a. Accumulated precipitation vs I.  Hydrograph
time in chronological order
b. -Rainfall intensity vs time ' II. Hyetograph
c.  Stream flow vs time in III. Flow-duration curve
chronological order
d. Steam discharge vs percent time IV. Mass curve of rainfall
the flow is equalled or exceeded ' T
a b c d
(1A IT I 111
.£2) 1V I o et
@) S5 IV I II1
9 s | AY II1 I
53. If a soil has an infiltration capacity of f,, actual infiltration rate f is given by
(1) f'.<fcwheni<;f (2) f=iwheni>fc
3) f=f wheni<f (4) f<f wheni>f
(where 1 = Ra_inf'all' intensity in abqve'options)
54. The chemical that is found to be most suitable as water evaporation inhibitor is
(1) ethyl alcohol (2) methyl alcohol
(3) cetyl alcohol ; (4) butyl alcohol
55. A peak ordinate of a 4-h unit hydrograph for a catchment is 80 m?/s. The peak ordinate

of an 8-h unit hydrograph for the same catchment will be
(15 > 80 m¥/s (2) =80 m%/s

(8). < 80 m%s (4) Data inadequate
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63. The maximum application rate of sprinklers is limited by
(1) the infiltration capacity of the soil
(2) the brevailing wind velocity
(3) the quantity of water a\failable
(4) the prevailing humidity and radiation
64. Leaching is the process in which
(1) water table is lowered by using pumps
(2) land is flooded with adequate depth of water to reduce salts in the top layer
(3) land is flooded with adequate depth of water to reduce salts in-the bottom layer
(4) None of the above | o ‘
'65. An irrigant has the ionic concentrations of Na, Ca*? and Mg*? as 30, 10 and 8 meq/L
respectively. The Sodium Adsorption Ratio (SAR) of this water is
(1) 010 - (2) 3:33 3 10 (4) 1-66
66. A land is known as waterlogged when
(1) gravity drainage 'has'_ ceased
(2) permanent wilting point is reached
(3) the soil becomes completely saturated
(4) . .capﬂlary fringe reaches the root zone of the plants
67. An aqueduct means
(1) passing canal below the drainage
(2) passing canal below the road
(8) passing the drain through the canal
(4) passihg the canal over the drainage
68. The ﬁplifl: pressure is reduced ‘ in a gravity dam when a drainage gallery

with its drainage pipe system is provided.

(1) at all levels below the upstream level
(2) at all levels below the drainage gallery
(3) at all levels below the downstream level

(4) at the foundation level only
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75. It is not desirable to provide transition curve on which of the fol]owmg types of

curves ? : :

(1) Summit curves (2) Valley curves

(3) Sharp curves ~ (4) Steep curves
76. In traffic engineering, which of the following information is collected by road side

interview method ?

(1) Origin and destination data (2) Traffic capacity data

(8) Traffic volume data (4) Parking stu_dies
77. CBR test is developed to evaluate which of the following ?

(1) Shearing resistance of soil (2) Modulus of subgrade reaction o

(3) Stability of soil subgrade (4) Stress —-strain felationship of soil
78. To study weathering action on road aggregate, which of the following tests is carried

out ?

(1) Abrasion test (2)‘ Crushing test

(3) Impact test | (4) Soundness test
79. Guidelines of design of flexible pavement are recommended in which of the following

IRC codes ?

(1) IRC 29 | (2) IRC 37

(8) IRC 58 {(4) IRC 86

As per IRC recommendations for design of concrete pavements, the ﬂexural strength

80.

of cement concrete used in the pavement should not be less than

(1) 6 kg/em? " (2) 24 kglem?

(3) 30 kg/cm2 (4) 40 kg/cm2
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‘91. Which air pollutant is nof included in National Ambient Air Quality Standards
2009 ? :
(1) Ozone ' (2) Benzene
(3) Mercury - (4) Arsenic
92. The fire demand for a population of 1-5 lakh as per the recommendation of
IS 9668 : 1990 is
(1) 1800 litre/min . (2) 3600 litre/min
(3) 5400 litre/min : . (4) 7200 litre/min
93. The fqﬂowing'characteristics pertain to the sand filters in water treatment :
a. The effective size of filter medium is 0-25 mm to 0:35 mm.
b. Backwashing is carried out by air scouring followed by water washing.
~¢.  The suspended solids are removed at the surface on biofilm mat.
Which of these are related to slow sand filters ?
(1) aandb d ‘(2) a,bande
(3) aandc (4) bandec
94. What are the Ambient Air Quality Standards in respect of noise in daytime for
industrial and commercial areas respectively ?
(1) 75, 65 dB(A) Leq. ; ~ (2) 75,70 dB(A) Leq.
(3) 175, 55 dB(A) Leq. (4) 65, 55 dB(A) Leq.
95. The following data pertam to a sewage sample at 20°C

Initial dissolved oxygen = 6 mg/L

Final dissolved oxygen after 5 days = 3-5 mg/L
Dilution ratio = 0-02

The BOD; of the above sample at 20°C is

(1) 500 mg/L 7 (2) 125 mg/L

.(3) 175 mg/L (4) 12-5 mg/L
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